e Bl

A AIICEED BE S | MES R EE Y Sk

B S BT HEE
i it s o e sk
Fearral 1901 ~ 903 = £ B¥F ~ p Snycit S o LR S 5
W s
ELEE
(1) figefe [IF M 1 B3 7-3/9-1 (1€ AR 7-1/8-1 [Iytipda 5k T-4/8-3
(155 % 43648 8-2/9-4 [1% ¢ 4 75 7.7-2/8-4 [JHHE=F R 9-2/9-3
o @) peie (186 pge 2 <8 042 Dpkgs
AL 12 (B p LEB FHAz
[]H & A2 .
aoi @ B R (2 #3335 ar g (15 5 A016 #4007 Ea I8 w19 5 & (7 47%)
(247 38 A 4
CERE
. B-J-A3 3% R it 4 s fcatar s B3R A S p ARV FIARAHA o HiE B
LIRS A o
2. R-J-Bl #* WEr AFER o HERF R oA w2 TiE: A 4 0 ¥
WMEEGE A g R s TRREW A gk P A A R FT BT # o
3. R-J-C3 %éééﬁ?‘#wﬂ%l Peitapid > TETEEL LR HLRENE S BE
bk’ﬁg?}gg; it eniy e B2 R
O l.p-1-3 EF @8 Yo 2 ¥ TRoe At RypBAPREFEZIAGAR
- kLR EAERG
- TN ,
SLERTRF ) w1 B g1 LR AR -
R-III-9 Az HFT £8 KA ,Tpiiimﬁ’*#—1 %o
1. W-T11-1 @ * ez 1 B/ 3R miiiml“'ﬁ'* °
9-2 REIFP R (2. W-111-9 MLz ;;g * 8 FE R RS & o
3. A-T1-6 #cig B p NAgdxenizd
. BYREF o @ Ry~ 3L FHEGFE 22X #35% &2 et
WM o f ORI 4 S BT -
2. B LHv A~ BAMGECL RN 4 o EF p TR o
3. FARF ECRRIAG FVRBAEL  EBELIEE LA HERHT B
KE P& lLZxtm@Fapaiih L 2L HER DL
-1 ¥p P RS 2 RAME S FH = 233 FRMBEREAFT SO F T o
ALY E I BB ISR AL
1. sc¥t= Ap BB FEIB 5 FRI8 2 AR R o
0.2 i R fo ¥ L f%fiﬁ;i ¥ %
2. i kypv AEEP Fi A% BLFPPT o
F%‘a)i . & F%ﬁi]]\ Pﬁ
Eow #3#R % (Subject/Topi
= i ZmM % (Subject/Topics) %
- 8/23 |FARM g 8/23 % | #ERE p
= 18/26-8/30 % - ~= P (%-=AFYF) MEHY
5o i iy &
=] 92-9/6 | LA
VD gz




9/9-9/13

B S

g e RL:

9/9 4 & s ~ 4 &5 %
8 & 45

%]

9/16-9/20

»
&

S

9/17(=)
¥R P

9/23-9/27

>
>

9/30-10/4

gl | |

10/7-10/1
1

>
>

>
»

10/10(= )
BB il p

10/14-10/
18

>
>

ﬁ‘

i 2R

=

10/21-10/
25

iwé%*%“§€?%~¢

¥

10/24-25
s

110/28-11/ |,

1

B

11/4-11/8

>
&>

s

11/4% 28585 p

11/11-11/
15

>
&

|

fu

11/18-11/
22

>
&>

>
&>

11/25-11/
29

>
&>

s

& L iFPPT

25-29113 L ARER
i

=g

12/2-12/6 |,

»
»

SR & |WiT PPT

12/9-12/1
3

12/16-12/ |F

20

“:*¢Wrmaﬁ¢%@§

12/23—12/ ]

217

PW¢%9$*&WW%

12/30-1/3 | F

1/1(z )~z lp

1/6-1/10

1/13-1/17 |z ¥ =& 45 ¥ 117 # jeimd
1/20 THEEAFY 1/20 3

?r% ,/E:’l'x' ‘:




W g
£ 1 60%

(e /i
¥/ RS/ EYH)

73 P
* Rt o
X 1; ; i) | 20 ¥ 1% 50% =
* £ | 20 q =1t

T 1

1 ” ? ENTK B =

St BE N
N i ,;%;«:.
g d)

iR
7" I :‘%"L L B




